2000 |

[EHEPATOP MHBEPTOPHbIWN

APTUKYJI: 474 10 1035
EAN8-20015633

PEJTN3Z: 12.2015

AETAJINPOBKA U3 AEJINA

PATRIOT

qacreii ¢ caiita www.ks-tehniks.ru (499)394-42-88




-~

FEHEPATOP MHBEPTOPHbDIN 2000 |

PACYHOK A

APTWKYI: 474 10 1035




PATRIOT S e

TABJIMLUA K PUCYHKY A
APTNKYJT: 474 10 1035

# APTUKYN OMUCAHUE KOn-BO
Al 005010369 JleBas yacTb KapTepa 1
A2 005010370 MacnsHas npobka 1
A3 005011586 YNnoTHUTEeNbHOE KOMbLIO MAaciAHOM NPobKu 19x3,55 1
A4 005010371 [aTurK ypoBHA macna B cbope 1
A5 005011575 LWaiba 10,3x21x1 1
A6 005011493 Bont M8x12 1
A7 005011487 LUNnuHT cneumnanbHbii 8x14 2
A8 005010372 Lnunbka-A M7x176,5 2
A9 005011488 WnanHT 8x14 4
A10 005011525 Bont M6x18 2
A1 005010373 lNpaBas yacTb KapTepa 1
A12 005011521 OunbTp MacnAHbIN B cbope 1
A13 005011460 Mpy>1Ha MacnsaHoro gpunbrTpa 1
A14 005011506 Kpblwka macnaHoro ¢punstpa 1
A15 005011451 YnnoTtHutenbHoe Konbuo 30x3 1
Al6 005010375 Wnnnbka-B M7x168 2
A17 005010376 Kpblwka kapTepa npasas 1
A18 005010377 Mpoknaaka KpbIWKK KapTepa 1
A19 005010378 CanbHuK 16,4x30x5 1
A20 005010379 CoepvHuTeNb TPYOKMN BEHTUNALUN ra30B 1
A21-A22 005010380 TpybKa BeHTURALMN KapTepHbIX ra3oB pe3nHoBsas Il 260 ¢ 3axumom 11,5 1
A23 005011537 Bont M6x45 1
A24 005011483 Bont M6x80 6
A25 005011484 Bont M6x90 3
A26 005011455 Bont M6x100 1




PATRIOT

PACYHOK B
APTWKYI: 474 10 1035

# APTUKYN OMNCAHUE KOJ1-BO
B1 005010381 Mpoknagka uinuHapa 1
B2 005010382 Bbnok yunuHgpa 1
B3 005011454 CoeanHNUTENbHbIV WNANHT 8x14 4
B4 005010383 lpoknaaka ronoBKuN LUANHAPa 1
B5 005011462 Wnunbka M5x97 2
B6 005010384 lonoBka yunmHapa B coope 1
B7 005011468 LWnunbka M6x32 2
B8 005010385 CanbHUK KnanaHa 2
B9 005011574 Bont M6x18 2
B10 005011511 LWain6a megHan ©7 4
B11 005011437 laika M7 4
B12 005010386 MpoknaaKa KpbILWKM rofIOBKM LUAUHAPa 1
B13 005010387 KpblLlwKa ronoBKu LMnnHApa 1
B14 005011442 Bont M6x25 4
B15 005010388 [epxatenb pacnpensana 1




1
c2
a
Cc4
c5
C6

PATIIOT py  GEESTOTETELC

APTUKYN
005010389
005010390
005010391
005010392
005010393
005010394

OMUCAHUE

KoneHsan B c6ope c lwatyHom
CTOnopHOoe KoMbLo MOPLUHEBOro nanbLa
MopLlHeBon naney,

MopuweHb

MopLuHeBble KoNbLa-KOMMNAEKT

LLinoHKa KoneHsana

PACYHOK C
APTWKYI: 474 10 1035

KOn-BO

[N N S T




PATRIOT

PACYHOK D
APTWKYI: 474 10 1035

# APTUKYN OMUCAHUE KOn-BO
D1 005010395 bonT HaTaXuTena uenun 1
D2 005010396 YnnoTtHutenbHoe konbuo ®15,2x1,5 1
D3 005010397 Hanpasnatowas uenu 1
D4 005010398 Llenb pacnpensana 6,35x82 1
D5 005010399 HatsxxkuTenb uenu 1
D6 005010400 Mpoknapka perynatopa 1
D7 005011540 Perynatop B cbope 1
D8 005011508 Bont M6x18 2
D9 005010404 KnanaH BbinyckHOM 1
D10 005010405 KnanaH BnyckHom 1
D11 005010408 Cepno kKnanaHa 2
D12 005010407 MpyxnHa KnanaHa 2
D13 005010406 OcHoBaHMe NPyX1Hbl KnanaHa 2
D14 005010409 QukcaTop KnanaHa 2
D15 005010410 PacnpepnBan B coope 1
D16 005010411 Kopombicno knanaHa B c6ope 2
D17 005010413 Ocb KOPOMbIC/1a BbINYCKHOMO KanaHa 1
D18 005010414 Ocb KopoMbICna BMYCKHOro KfanaHa 1




E1
E2
E3
E4
E5
E6
E7

PATIIOT py  GEESTOTETELC

APTUKYN
005010415
005010416
005011507
005010417
005011459
005011466
005010418

OMUCAHUE

Hacoc macnsaHbin

LllecTepHA MacnaHOro Hacoca
Bbont M6x25

lanka M6

WrnTt(BTYNKa) 8x11

bont M6x22

YnnoTHUTenbHoe Konbuo 9x1,6

PACYHOKE
APTWKYI: 474 10 1035




F1
F2
F3
F4
F5

F6
F7
F8

PATIIOT py  GEESTOTETELC

APTUKYN
005010419
005010420
005010421
005010422
005010423
005011477
005011467
005011465
005011552
005011445
005011524
005011522
005011497

OMMUCAHUE

Mpoknapka nsonaTopa KapbiopaTopa
M3onatop Kap6lopaTtopa
Mpoknagka kapbropaTopa
Mpoknapka BO3ayLWHOro Gpunbrpa
BospywwHbi dunbTp B cbope
Kamepa Bo3gywHoro ¢unbtpa
Kpbilwka punbTpyloLLero anemeHTa
OunbTpyloLWNiA SNeMeHT

3aXKnM CTanbHOW NeBblIiA

3aXM1M CTanbHOW NpaBbIf

Brynka

LWain6a 5

Bont M5

PUCYHOKF
APTWKYI: 474 10 1035

KON-BO

N NN = m a2 o o a3



PATIIOT py  GEESTOTETELC

PAUCYHOK G
APTWKYI: 474 10 1035

#
G1

APTUKYN OMUCAHUE KON-BO

Kap6iopaTop B cbope




PATIIOT py  GEESTOTETELC

PUCYHOKH
APTWKYI: 474 10 1035

# APTUKYN OMUCAHUE KOn-BO
H1 005011438 Bont M5x12 7
H2 005011496 Brynka kpennexua 5
H3 005010425 Craptep 1
H4 005010426 KpbllwKa/NblIbHKK CTapTepa 1
H5 005011502 Bont M5x22 4
H6 005011499 Brynka kpenneHus 4
H7 005010427 CrakaH cTapTtepa 1
H8 005010428 KpbinbyaTtka 1
H9 005010429 Kpblwka/pednexktop B 1
H10 005010430 Kpbiwka/pednektop A 1
H11 005011482 Bont M5 2
H12 005011514 BuHT ST4.8x16-F.H 2

~10-



PATRIOT

APTUKYN
005010431
005010432
005011470
005010433
005010434
005011485
005011533

OMUCAHUE

Mpoknagka BbIXOAHOTO MaTpy6Ka riyLmTens
BbixogHoW naTpy6oK raylwmtens

lanka M6

Mpoknapka rnywutens

Mnywwurens B cbope
bont M6x70
Bont M6x45

-11 -

FEHEPATOP UHBEPTOPHbIV 2000 |

PUCYHOKII
APTWKYI: 474 10 1035

KON-BO

N = = a2 N = =



PATRIOT

PACYHOKJ
APTWKYI: 474 10 1035

s 1

10

# APTUKYN OMNCAHUE KOJ1-BO
J1 005011446 lanka potopa M10x1,25 1
J2 005011671 Potop 1.4KW.420V 1
J3 005011672 Cratop 1.4KW 420V 580Hz 1
J4 005011439 Bont M5x30 2
J5 005011512 Bont M5x12 2
J6 005010438 Tpurrep 1
J7 005011546 MnacTrHa pe3nHoBas 1
J8 005011515 BuHT ST6.3%25 1
J9 005010601 CBeva 3axuraHua 1
J10 005010439 KaTyLiKa 3aXKmraHna ¢ Kosinaykom 1

—12-



PATRIOT S e

PAUCYHOK K
APTWKYI: 474 10 1035

# APTUKYN OMNCAHUE KOJ1-BO
K1 005010441 KpblwwKa TonnvBHoro 6aka 1
K2 005011529 YnnoTHeHWe 3an1MBHON FOPNOBKHbI Pe3MHOBOE 1
K3 005010442 TonnusHbI GUNbTP 1
K4 005010444 TonnumBHbI 6ak 1
K5 005010443 YnnoTHEHVE TOMIMBHOTO 6aka HUXKHee 2
K6 005011464 OunbTp TONAMBHON TPYOKM 1
K7 005011481 3aXum TonnneHom Tpyokm O11 3
K8 005011478 TonnusHas Tpy6Ka 65 1
K9 005011542 3axum ©9 3
K10 005010446 TonnmnBHbIN KpaH 1
K11 005011545 Pyuka TonnmBHoro KpaHa 1
K12 005011541 BuHT M4x16 1
K11-K12 005010448 Pyuka TonnnBHoro KpaHa B c6ope 1
K13 005011551 TonnvBHas TpybKa 65 1
K14 005010451 BeH3oHacoc B cbope 1
K15 005011550 Lllanba ®©4 3
K16 005011536 BuHT ST4.2%19 3
K17 005011491 TonnueHasa TpybKa (5-10) -120 1
K18 005011489 TonnueHas Tpy6Ka (5-10) -80 1
K19 005011510 TPOMHUK TONAMBHBIX TPYOOK 1
K20 005011444 TonnueHas Tpy6Ka (5-10) -200 1

~ 13-



PATIIOT py  GEESTOTETELC

PACYHOKL
APTWKYI: 474 10 1035

2 o
. Y P
M= 7
gy
el
e
5 o el
" = --'-"____..

Fo.X

# APTUKYN OMUCAHUE KOn-BO
L1 005011559 BuHT M6Xx12 1
L2 005010453 KpblwKa npaBon Yactu Koprnyca 1
L3 005011441 BuHT M6X16 2
L4 005010458 MNpaBanA yacTb KOpryca reHepaTopa 1
L5 005011440 BuHT M5x12 10
L6 005010455 Kpblwka raywmrens 1
L7 005010456 [poknaaKa KpbILWKK rywmTens 1
L8 005010457 KpblwKa Kopcyna BepxHAa 1
L9 005010454 JleBas yacTb Kopnyca reHepaTopa 1
L10 005010459 HwxHAA nnowaaka reHepaTopa 1
L11 005011463 Ho»Ka aHTMBMOpaLOHHan 4
L12 005011590 Bont M6x16 4
L13 005011591 BuHT M5x16 2
L14 005011592 lanka M5 2

— 14—



M1
M2
M3
M4
M5
M6

PATRIOT S e

APTUKYN
005010461
005010462
005011593
005011594
005010463
005010464

OMUCAHUE

Pbluar npusogHoi

KpoHLwwTenH waroBoro aosuratens
BuHT M4x12

BuHT M3x8

LLlaroBbIln gBuratenb

MpyrHa NPYBOAHOIO pblyara

—-15-

PUCYHOKM
APTWKYI: 474 10 1035

KOn-BO

- a NN =




N1
N2
N3
N4

PATRIOT FEHEPATOP UHBEPTOPHbIIA 2000 |

PUCYHOK N
APTWKYI: 474 10 1035

i

APTUKYN OMUCAHUE KOJ1-BO
005011595 Bont M6x12 4
005011596 MnacTuHa KpenexkHas 2
005011597 MHBepTop 1.5KW 230V 50Hz 1
005010468 YnnoTHUTeNbHaA nnowagka MHBepTopa HKHAA 2

—16-



PATRIOT S e

PACYHOK O
APTWKYI: 474 10 1035

O oty
o

&
!
)
# APTUKYN OMNCAHUE KOJ1-BO
01 005010469 MNepenHas naHenb 1
02 005011598 BuHT ST4.2x6.5-F 1
03 005011599 BuHT ST4.2x13 3
04 005010470 3awwTa ot neperpysku 4,5A 1
05 005011600 BuHT M5x16 1
06 005011673 KoHTponnep 3axuraHua 1C-2500 1
o7 005011601 BuHT M5x8 4
08 005011602 Wan6a ®5 4
09 005011603 laka M4 4
010 005011604 laka M3 2
o111 005010471 Pa3zbem/ poseTka T-obpa3Has 1
012 005010474 dnemeHT nepefHen naHenn 1
013 005011605 Haknewnka Ha nepefHo0 NaHenb 1
014 005011606 BuHT M3x16 2
015 005010475 EBpoposetka 1
016 005011607 BuHT M4x12 4
017 005011608 BopoHenpoHLaembli KONMAYoK 3aXWTbl OT Neperpysku 1
018 005010473 BbikntouaTens 2
019 005011609 BofoHenpoHLaemMbli KONMAYoK BblKoyaTena 2
01-019 005011674 MaHenb ynpasneHus B c6ope 1

~17-






